Division par Puissances de Dix (E)

Trouvez chaque quotient.

95 +0,1= 67 - 0,01 =
73 +0,01 = 10+0,1=
75 +0,1 = 99 + 0,01 =
81-+0,01= 47 = 0,001 =
7+0,01= 98 ~- 0,1 =
18 - 0,01 = 56 - 0,1 =
13+0,1= 57 = 0,001 =
67 +-0,1= 38+0,1=
44 - 0,1 = 53+0,001 =
99 +- 0,001 = 66 ~0,1=
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Division par Puissances de Dix (E) Solutions

Trouvez chaque quotient.

95+ 0,1 =950 67 +0,01=6700
73 +0,01=7300 10+0,1=100
75+0,1 =750 99 = 0,01 =9900
81+ 0,01=8100 47 <+ 0,001 =47 000
7+0,01=700 98 = 0,1 =980

18 +0,01=1800 56 + 0,1 =560
13+0,1=130 57+ 0,001 =57 000
67 +0,1=670 38 + 0,1 =380

44 +- 0,1 =440 530,001 =53 000
99 = 0,001 =99 000 66 + 0,1 = 660
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